Attachment 13:  Incentive Fee Example

This example is provided for illustrative purposes only.  It is in no way intended to represent actual subtasks or their requirements.  

Subtask #7 was created to provide two products and one service. The subtask requester had specific preferences and requirements regarding cost, performance, and schedule for the three deliverables.  After working with the Contractor, the two parties reached an agreement on the subtask requirements, acceptance criteria, incentive fees, technical approach, and projected cost estimates.  Their agreement was codified into a subtask order using the procedure described in the RFP.  

The remainder of this example consists of the agreement details that are related to defining the subtask’s incentive fee formulas and calculating the actual subtask fee earned.

1)
Brief Description of the Deliverables

A brief description of the three deliverables is given in the table below:

Deliverable
Type
Description
Label

1
product
portable computer
  p1

2
product
handheld personal digital assistant (PDA)
  p2

3
service
service for p1 and p2
  s1
2)
Acceptance Criteria

The following criteria must be satisfied in order for the subtask incentive fee to be paid.

Product #1 Minimum Requirements

-
portable computer, weight of 5 pounds or less

-
300 MHz or greater processor, 20 GB hard drive, 256 MB RAM

-
color display with an advertised screen size of 15”

-
commonly used operating system installed and operational

-
commonly used office suite (to create and manipulate electronic text documents, spreadsheets, and charts) installed and operational

Product #2 Minimum Requirements

-
handheld PDA, weight of no more than 8 oz, run Palm OS v.4.1

-
8 MB of memory, color screen, rechargeable lithium-ion battery

-
run standard personal organizer functions (e.g. calendar, schedule, contact info, to do list)

-
link with p1 (including any necessary software to link)

Service #1 Minimum Requirements

-
average total cost for this service is $20K a year or less over the period of performance
3)
Incentive Fee Formulas

The available incentive fee for this subtask was $2K.  The initial split of the subtask incentive fee across the deliverables was as follows:

  subtask_7_feeAVLB   = p1_feeAVLB + p2_feeAVLB + s1_feeAVLB

                                  = $2,000 ( (20% + 10% + 70%)
  where  p1_feeAVLB  =  20% of subtask_7_feeAVLB or   $400

              p2_feeAVLB  =  10% of subtask_7_feeAVLB or   $200

              s1_feeAVLB  =  70% of subtask_7_feeAVLB or $1,400

The earned fee formula for subtask #7 was defined as:

  subtask_7_feeEARN   = p1_feeEARN + p2_feeEARN + s1_feeEARN

where the deliverable earned fees were defined below.  

The subtask requester had specific cost, performance, and schedule metrics in mind for each of the deliverables.  Working with the Contractor, incentive fee formulas based on specific cost, performance, and schedule metrics were created for each of the three deliverables.

Deliverable #1 (p1)
The available fee for deliverable p1 was divided among the cost, performance, and schedule factors as follows:  


  (C_AVLB_p1  =  40% 


  (P_AVLB_p1  =    0% 


  (S_AVLB_p1  =  60% 

so that the following condition was met:

  p1_feeAVLB =  p1_feeAVLB ( ((C_AVLB_p1 + (P_AVLB_p1 + (S_AVLB_p1)  =  $400 (  (40% + 60%)
The earned fee for deliverable p1 was the sum of the earned cost, performance, and schedule factors times the available p1 fee:  

  p1_feeEARN  =  p1_feeAVLB ( ((C_AVLB_p1 ( (C_EARN_p1  +  (P_AVLB_p1 ( (P_EARN_p1  

                      +  (S_AVLB_p1 ( (S_EARN_p1)

which simplified to 
  p1_feeEARN  =  $400 ( (0.4 ( (C_EARN_p1  +  0.6 ( (S_EARN_p1)

The cost factor formula was defined as:

  (C_EARN_p1  =  80% - (Cost_p1actual  - $2K) ( 10%

where Cost_p1actual was the actual cost of deliverable p1 in thousands of dollars.  The schedule factor formula was defined as:

  (S_EARN_p1  =  80% - (Delivery_date_p1actual  - 120) ( 2%

and Delivery_date_p1actual was the actual delivery date of p1, measured in days from the beginning of the calendar year.   Note that the subtask requester is signaling to the Contractor that the incentive fee for the first deliverable (p1) is inversely proportional to the cost of the portable computer and the number of days it takes to deliver it.

Deliverable #2 (p2)

The available fee for deliverable p2 was divided among the cost, performance, and schedule factors as follows:  


  (C_AVLB_p2  =  20% 


  (P_AVLB_p2  =    0% 


  (S_AVLB_p2  =  80% 

The earned fee for deliverable p2 was the sum of the earned cost, performance, and schedule factors times the available p2 fee:  

  p2_feeEARN  =  p2_feeAVLB ( ((C_AVLB_p2 ( (C_EARN_p2  +  (P_AVLB_p2 ( (P_EARN_p2  

                      +  (S_AVLB_p2 ( (S_EARN_p2)

which simplified to

  p2_feeEARN  =  $200 ( (0.2 ( (C_EARN_p2  +  0.8 ( (S_EARN_p2)

The cost factor formula was defined as:

  (C_EARN_p2  =  60% - (Cost_p2actual  - $400) ( 0.2%

where Cost_p2actual was the actual cost of deliverable p2 in dollars.  The schedule factor formula was defined as:

  (S_EARN_p2  =  80% - (Delivery_date_p2actual  - 120) ( 2%

and Delivery_date_p2actual was the actual delivery date of p2, measured in days from the beginning of the calendar year. 

Deliverable #3 (s1)
The available fee for deliverable s1 was divided among the cost, performance, and schedule factors as follows:  


  (C_AVLB_s1  =    0% 


  (P_AVLB_s1  =  100% 


  (S_AVLB_s1  =    0% 

The earned fee for deliverable s1 was the sum of the earned cost, performance, and schedule factors times the available s1 fee:  

  s1_feeEARN  =  s1_feeAVLB ( ((C_AVLB_s1 ( (C_EARN_s1  +  (P_AVLB_s1 ( (P_EARN_s1  

                      +  (S_AVLB_s1 ( (S_EARN_s1)

which simplified to 
s1_feeEARN  =  $1,400 ( (P_EARN_s1
  where the performance factor formula was defined as:

  (P_EARN_s1  =  80%  -  (Downtime_s1actual  - 2) ( 10%

and Downtime_s1actual was the actual average total downtime experienced by the subtask request for products p1 (portable computer) and p2 (handheld PDA), measured in hours per month.  Note that the subtask requester is signaling to the Contractor that the downtime metric in deliverable #3 (s1) is clearly the most important metric in the entire subtask.

4)
Deliverable Fee Calculations

All the acceptance criteria were met.  [Note that, in general, the acceptance criteria can be tied to individual deliverable fees or the entire subtask incentive fee.]  Calculations for the three deliverable incentive fees are shown below.

Deliverable p1

The actual cost of the portable computer (deliverable #1, p1) was $1.5K, so the cost factor formula was calculated to be:

  (C_EARN_p1  =  80% - ($1.5K - $2K) ( 10%  =  85%

The actual delivery date for the portable computer was the 110th day of the year, so the schedule factor formula was defined as:

  (S_EARN_p1  =  80% - (110  - 120) ( 2%  =  100%

Based on the earned fee formula for deliverable p1, 

  p1_feeEARN  =  p1_feeAVLB ( ((C_AVLB_p1 ( (C_EARN_p1  +  (P_AVLB_p1 ( (P_EARN_p1  

                      +  (S_AVLB_p1 ( (S_EARN_p1)

the p1 earned fee was calculated to be 

  p1_feeEARN  =  $400 ( (40% ( 85%  +  60% ( 100%)  =  $376

Deliverable p2

The actual cost of the PDA (deliverable #2, p2) was $360, so the cost factor formula was calculated to be:

  (C_EARN_p2  =  60% - ($400  - $400) ( 0.2%  =  60%

The actual delivery date for the PDA was the 125th day of the year, so the schedule factor formula was:

  (S_EARN_p2  =  80% - (125  - 120) ( 2%  =  70%

Therefore, the p2 earned fee was calculated to be 

  p2_feeEARN  =  $200 ( (20% ( 60%  +  80% ( 70%)  =  $136
Deliverable s1

The actual total downtime (over the period of performance) associated with service, s1, averaged 0.8 hours per month:

  (P_EARN_s1  =  80%  -  (0.8  - 2) ( 10%  =  92%

Therefore, the fee earned for service, s1, was calculated to be 

  s1_feeEARN  =  $1,400 ( (92% ( 100%)  =  $1,288

5)
Deliverable Fee Calculations

Therefore, out of the $2,000 fee that was available, the total earned fee for subtask #7 was calculated to be:

  subtask_7_feeEARN =  p1_feeEARN  +  p2_feeEARN  +  s1_feeEARN  

                                 =   $376  +  $136  +  $1,288  =  $1,800
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